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Problem quickname: 2601

1)
Quick:
2601

Calculate the result.

a) (−1.816) − (+1.075) = −1.816 − 1.075 = −2.891
b) (+0.071) − (+3.576) = 0.071 − 3.576 = −3.505
c) (+8.057) − (+8.191) = 8.057 − 8.191 = −0.134
d) (−2.641) − (+5.261) = −2.641 − 5.261 = −7.902
e) (−5.857) + (−0.643) = −5.857 − 0.643 = −6.5
f) (−6.734) − (+1.509) = −6.734 − 1.509 = −8.243
g) (−2.486) − (+6.58) = −2.486 − 6.58 = −9.066
h) (−5.417) − (+1.664) = −5.417 − 1.664 = −7.081
i) (−8.467) + (−0.208) = −8.467 − 0.208 = −8.675
j) (−0.651) − (+6.206) = −0.651 − 6.206 = −6.857
2)

Quick:
2601

Calculate the result.

a) (+18.719) + (−28.971) + (−24.271) = 18.719 − 28.971 − 24.271 = −34.523
b) (+36.778) + (−3.117) + (+8.907) = 36.778 − 3.117 + 8.907 = 42.568

c) (+21.666) + (−13.103) − (−30.041) = 21.666 − 13.103 + 30.041 = 38.604
d) (+24.872) + (+2.553) − (+21.599) = 24.872 + 2.553 − 21.599 = 5.826
e) (+16.704) − (+38.707) + (−13.38) = 16.704 − 38.707 − 13.38 = −35.383
f) (+18.517) + (−1.828) + (−14.152) = 18.517 − 1.828 − 14.152 = 2.537
g) (+14.813) + (−48.951) + (+23.452) = 14.813 − 48.951 + 23.452 = −10.686
h) (+45.395) + (−34.395) + (+6.135) = 45.395 − 34.395 + 6.135 = 17.135

i) (+40.271) + (+0.769) + (−20.721) = 40.271 + 0.769 − 20.721 = 20.319
j) (+22.505) + (−10.742) + (−26.809) = 22.505 − 10.742 − 26.809 = −15.046

3)
Quick:
2601

Calculate the result.

a) (+3.35) − (+2.74) = 3.35 − 2.74 = 0.61
b) (+4.47) + (−2.69) = 4.47 − 2.69 = 1.78
c) (+8.34) − (+7.56) = 8.34 − 7.56 = 0.78
d) (+0.29) + (−8.94) = 0.29 − 8.94 = −8.65
e) (+2.84) + (+2.19) = 2.84 + 2.19 = 5.03
f) (+9.26) + (+0.2) = 9.26 + 0.2 = 9.46
g) (+1.52) + (−1.66) = 1.52 − 1.66 = −0.14
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h) (+0.02) − (+2.65) = 0.02 − 2.65 = −2.63
i) (+4.03) − (+4.39) = 4.03 − 4.39 = −0.36
j) (+7.84) + (−9.55) = 7.84 − 9.55 = −1.71
4)

Quick:
2601

Calculate the result.

a) (−0.222) + (+0.692) + (−0.647) = −0.222 + 0.692 − 0.647 = −0.177
b) (+0.341) + (−0.796) + (−0.364) = 0.341 − 0.796 − 0.364 = −0.819
c) (+0.016) + (−0.747) + (−0.194) = 0.016 − 0.747 − 0.194 = −0.925
d) (+0.636) + (−0.684) + (−0.14) = 0.636 − 0.684 − 0.14 = −0.188
e) (+0.215) + (−0.693) + (+0.167) = 0.215 − 0.693 + 0.167 = −0.311
f) (−0.059) + (−0.251) + (−0.572) = −0.059 − 0.251 − 0.572 = −0.882
g) (−0.658) + (+0.218) + (−0.529) = −0.658 + 0.218 − 0.529 = −0.969
h) (+0.947) + (−0.311) + (−0.901) = 0.947 − 0.311 − 0.901 = −0.265
i) (−0.537) + (−0.06) + (−0.034) = −0.537 − 0.06 − 0.034 = −0.631
j) (−0.926) + (−0.034) + (−0.008) = −0.926 − 0.034 − 0.008 = −0.968

Good Luck!
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